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run_13095016 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Wed Apr 4 07:43:27 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

RMS (ADC-ped)

500

300 [+

200 [

100

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

RMS (ADC-ped)

500

N N i
20 4 60 80 100 120
APV channel

RMS (ADC-ped)

500

i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=16 }

RMS (ADC-ped)

350

300

|1II1|HIT|ITII[IHBI1

APV channel




run_13095016 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Wed Apr 4 07:41:55 2012

ADC for FGT RDO=2,ARM=2,APV=17 _§

ADC-ged

[

1000

2000 3000 4000

raw ADC

[[_ADC for FGT RDO=2.ARM=2.APV=18 |

I
3000 4000
raw ADC

1
2000

[ Apcfor

FGT RDO=2,ARM=2,APV=19 __§
—

AD%‘ped

0

1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=2,ARM=2,APV=20

ADgped

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=21 _§

ADCrped

1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

10"

APV channel

[ ADC for FGT RDO=.

2,ARM=2,APV=18 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=

2,ARM=2,APV=19 |

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

10"

APV channel

[[ADC for FGT

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

10°

10"

20 40 60 80 100 120
APV channel

Py
lw)
O

[ADCfor FGT

N
p=
Py
<
N

p=
T
<]
D
N
[
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

10"

R i RIE RN ARG RN AR AIGRI RN ATE AR ATENATRNAT]

N
N =5
IS
S
@
3
@
S
o
15}
53
e
N
5}

APV channel




run_13095016 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Wed Apr 4 07:42:53 2012

2APV=17_}

nnnnnnnnnn

b oc00000c000000000db000000000000000000000db00000000a0000000dMboad P N IS R B P N fooocoooososossooddbodboaddbosscnconooscos00ad

nnnnnnnnnn




run_13095016 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
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